TRERMEE A TAPHASRLEPABE LT
1m6whxg Eﬂ;i%:ﬁg@i
105.4.16 % = B %+ F fe % gg\ﬁigg@?

111913 %4 E %> 2~ T F ¢ RB37
130018 %+ E %= =%m T F §&B I

-~ i
sp%@ﬁéi’?E?ﬁﬁf Fi A8 % B2 fiRies o 7
LA RMBE A T PR TR GBI ETEL R (1T HHAR

) o

TR
(—)ﬁ?_’& > r'ﬂ ;fétﬁ%i@:f% °
(C)RBFF - BIRET T A vrenY Ko B 2L EP K o
G LEHFRT 2 kbre

i

I
\E'f;FQ|

QR 4 %11
& A FTLH 6,000 0 TRTRE P |BLE) LEE o

FEQVEEENRIEFEY cRT 220V GFAZRRE A ¥ P B
BB RN o XRRHY A e FE gL Y Ko 2R
it A S 2T o

\

o
1;&
R
A

BEHY E(__]_’Fég)sg %"&-Ti\)’dgﬁm;}&ﬁ%wﬂ:@kﬁiﬁgg€i$€i°

BELAEFPUAFEFCE TR Rt Td RAERAITE LY o

PR FR AT EPH S AR THEEALFRLR
N UENRE S SRS EN LT LT

o~
= ¥
{g
~
s di
e
(&

T ABRBRCRAEETEEREIFLEF W BP0



